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The ﬁgures in the margln indicate full marks
for the questions.

Anéwe’r either in English or in Assamese.

R W SPrTEe Sew Rl
- 1.” Choose the correct answer : | 1x10=10 ;
g Senl AR SRedt ¢

(@) In which year 6 more commercial banks were
nationalised in India ?

e Tgn AT @
g+ e

(i) 1969 / dsus - (i) 1975 / s»ac
(iii) 1980 / S3¥0  (iv) 1982 / S5ty
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(b) Which one of the foIlowmg is the ﬁrst
~ Universal Bank in India ?

RGP SiRe<de e Rferfia Qs ¢ -
(i) ICICI Bank / @i 5 @i & @i} @
(ii) HDFC Bank / €% & 9% & @
(iii)SBI / @5 R Wi
(iv) AXIS Bank { @ D
- (© Schcdule 3_in the Bﬁnk Balance She.et relates
o to' : :

-

G@WWQWW@WW
Rt g ¢

(i) Deposits - |
SRS |
(i) Capital |
LEagl
(iiii) Borrowings
Lo
(iv) Fixed Assets
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(d

(e)

Under which Schedule a bank ' prepares its
Balance Sheet ?

Wﬁﬁawﬁmaﬁ@wwwvm -

- UFS. FE?
(i) Third Schedule of the Banking Regulatlon

Act, 1949. |
R @STEA 2, S583T 0N wayﬁn

(ii) Third Schedule of ﬂ_'l'e Reserve Bank of
India Act, 1934.

SRE Roé @ wiEA, 35087 ot
Lovat - |

(iii) Third Schedule of the Companies Act,
2013.

@rnynfﬂ w["QT{ QO'JN o] Wﬁﬁ!

(iv) Third Schedule of - the Negonable
Instruments Act, 1881.
msﬂwﬁawﬁa :.ww»eamﬁ?n

The tclanonshlp between a banker and a

customer is : =

R G AT TSR TAE A 3

(i) that of a debtor and creditor
IR S ANeAmI]
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(ii.) that of a creditor and debtor
‘(iii) ﬁﬁmarﬂy that of debtor and creditor

RS (AR W ANSRRR
(v) Noﬁe of the above - |

8] hre wZW

® A iaanker’s lien is
R T R
[0} Negatiye lien
IS TR |
(ii) Particular lien -
R w9
(iii) General lien
YR 9
(iv) All of the above
@9 SRR
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(g) A collecting banker is giveh protection only.
‘when he collects a crossed cheque.

G @S cwwaﬂqasﬁﬁriﬁﬁ AP
T w2 |

(i) Correct (®%)
"(ii) Incorrect (T18%)

(h) Two parallél transverse lines are essential for
a special crossing.

ﬁr‘m @AW (TS 11051?{ mrrﬁ—ﬁam%r
TSR @R S|

(i) Correct (tﬁ)
(i) Incorrect (Tem)
€Y “A&vances of a bank represents its assets.”
“@T T R T edfSRfeg )
(i) Correct (9%) o

* (if) Incorrect (ST9%)

2/4 (Sem-6) MBP ©) [Turn over



(J) Borrower’s character + capacny + capltal =
Safe credit.

@I RA + NG + A B S—
* (i) Correct (9%)
(ii) Incorrect (wéi)'
2. Answer the following questions : 2x5=10
st arpris v o |
('a) What is unit banking ?
|G NS T @G ? |
(b) Deﬁné customer of a bank. |
R AT @ T
(c) W]iat is an overdraft ?
SRR I QA
(d) Wnte two features of Negonable Instrument,
W W 45! Cafey fora
(e) What is Non-performing Assets ?

- TG P QA L2
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3. Answer any four of the following questions (in
ébout 200 words each) : .. 5%x4=20

ﬁm@ﬁ@mmﬁﬁmwm(eﬁfmwow
WW@)

() Distihgui_sh between public sector bank and
 private sector bank. '

wwwww‘ﬂ@ V6T RIN TS
oTSN (TS |

(b) Give the proforma of Schedule 2 of a Bank
Balance Sheet. : '

@m@@mmwﬁﬁauﬁ@mﬁn
]

(;:)_'Brieﬂ_y discuss }.hc rights‘ of a.bapker. |
| AR SRR T R e 41|
(d) Explain the .'signiﬁcanc;e' of génera! crossing.
R [ AN
 (¢) Distinguish between a cheque and.a bank draft
G (5T W Q¥ (IE TIFOR 2w Orel |
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4. (a)

Explain the different types qf business credit.

T AR RoR SRR TR I
State the features of retail banking. . 4

| R REPTR I <

®

5. (a)

Briefly state the advantages and disadvantages .

of branch banking system. : 6
il cqvi%\%ﬁﬂqﬁmwwﬁwma |
3

Or / QI .'

Describc the functions of modem commercial

banks. 0
'Wgﬁﬂiaﬁﬁfﬁi amwmw

Briefly discuss the procedure. of openmg a

~ bank account in the name of a partnership

firm. o ] 6

| 5t e e A @ ot e

(b)

i AR LT SCEAD 1|

Distinguish between Hypothecation and

~ Mortgage. . - 4

TS O IG9 ee dATen (edl|
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Or / 9t

Explain the circumstances under which the
banker-customer relationship terminates.

| | "0
@A @R RS 9B AR ARFR e
Tl SR <% Ut 1
6. Discuss the principles of bank lending. 10
REA WA TS To5iE S = |

Or / &i9al

State ‘the various assets contained in a Bank
Balance Sheet. : - 10

M

7. Define ‘holder’ and ‘holder in dué éburse State
the prwnleges of a holder in due course.
“ 4+6—10

R i RS st s f 3RS
YIRS colet A ARUPTR I 110
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